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7 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 4.71 5869 | FnS | 000 ~ 4.71| 1.82 9.72 Thlst 1.00 | 6.00 ~ 6.00 58.69 | =nLs | 5,00 ~ 6.00| 1.82 972
2 100kN/m#z#Z5| 100|000 ~ 059 10882 |3m&E#EZB| — ~ — — — | 100kN/m%#825 | 1.00 | 1053 ~ 1220 10882 |3m%E#BZ5 - ~ — — —
s 1.00 | 069 ~ 838 100.00 | =hist | 0ooo ~ 838|220 11.76 Thst 1.00 | 6.00 ~ 1053 100.00 | =hLst | 6.00 ~ 1220| 2.20 11.76
3 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 731 9312 | #nS | 000 ~ 7.31| 1.96 10.49 Thst 1.00 | 6.00 ~ 1050 93.12 | =hH | 5.00 ~ 1050| 1.96 10.49
4 100kN/m%E#Z5| 100|000 ~ 219 13405 |3mEEZE| — ~ — — — | 100kN/m#%#825% | .00 | 1080 ~ 2124 1534.05 |3m%EBZ3 - ~ — — —
ZhLst 1.00 | 219 ~ 998 100.00 | #hst | 000 ~ 9.98| 2.568 13.79 zhLst 1.00 | 6.00 ~ 1080 100.00 | #nst | 6.00 ~ 21.24| 2.68 13.79
5 100kN/m##82% | 1.00 | 000 ~ 0.61 109.02 |3mEBAD| — ~ — — — | 100kN/m%#825 | 1.00 | 1268 ~ 1474 109.02 |3mEHBZS -~ — — —
s 1.00 | 0.61 ~ 839 100.00 | =nLSt | 0.00 ~ 839 | 2.64 13.68 Thst 1.00 | 6.00 ~ 1268 100.00 | =nLSt | .00 ~ 1474 2.64 13.58
p 100kN/m%E#8z5| 1.00 | 000 ~ 125| 11886 |3m&EBz5| — ~ — — — | 100kN/mi%#825 | 1.00 | 1088 ~ 1480 118.86 |3m%EEEZ5 - ~ — — —
s 1.00 | 1.25 ~ 9.03 100.00 | =nLst | 0.00 ~ 9.03| 2.33 12.44 st 1.00 | 6.00 ~ 1088 100.00 | =hLSt | 6.00 ~ 1480| 2.33 12.44
7 100kN/m##8z% | 1.00 | 000 ~ 132 119.94 |3m%FBz%| — ~ — — — | 100kN/m%#825 | 1.00 | 1058 ~ 1474 119.94 |3m%E#BZS - ~ — — —
ThLst 1.00 | 132 ~ 9.10 100.00 | #nlist | 000 ~ 9.10)| 2.20 11.77 Zhst 1.00 | 6.00 ~ 1053 100.00 | Tnst | 6.00 ~ 14.74| 2.20 11.77
g 100kN/m%Z#z2% | 1.00 | 000 ~ 058\ 10867 |3mx#Bz25| — ~ — — — | 100kN/m%E#BZ2% | 1.00 | 11.03 ~ 1270| 10867 |3m%EiBZ% - ~ — — —
Thilst 100058 ~ 837\ 100.00| FThLS | 000 ~ 837| 2.35 12.60 ZnList 100 5600 ~ 11.03| 100.00| FnLS | 5,00 ~ 1270 | 2.35 12.60
100kN/MZ#2Z % ~ 3ImEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3ImEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBRD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




